Answer on Question #60512 — Math — Calculus

Evaluate each of the following function at given values of the independent variables.

Question 1
fO=5-1
==
Find:
a. f(—x)
b. f(t—2)
e« ~f()
Solution
a.
—X X
e e )
b.
t—2
ft—-2)= IZ -1
c.
2 z 2
_f(ZY=- | X _ —1__=
f(x) f? 1 xf?
Answer: a. — (1 + fiz), b. tf—_22 —-1;c1-— xifz
Question 2

R(y) = (n*y — sin®y)
Find:

a. R(0);

b. R(m);

c. R(—m);



h. R(mt — x);

. Vs .
|.R(E+x),
j- R(m + x);
Solution
a.
R(0) = (n%0 —sin?0) =0
b.
R(m) = (n*m — sin’m) = n’n
c.
R(—pi) = (—n?m — sin?(-n)) = —nn
d.
s n’m r\ n’m
V= —— — ¢l )| = — _
R(Z) <2 sin 2> > 1
e.
s n’m r\ n’m 3
= —— — ¢l | = _ _
R (3) <3 st 3> 3 4
f.
T n’m m\ n’m 1
)= —— —¢jp2— | = — _ _
R(3) <4 st 4) 42
g.
i nm m\ n?m 1
) =——gin?=)|=—-—_—
R(3) <6 st 6> 6 4
h.

R(m —x) = (n*(m — x) — sin*(xr — x)) = n?(mw — x) — sinx

R(g+x)=<n2(2+x)—sin2(%+x)>=n2(g+x)—coszx

R(m + x) = (n?(m + x) — sin®(r + x)) = n?(w + x) — sin’x



Answer:a. 0; b.n’m; c. —n’m; d. % -1; e nB—” - %; f. ”?T” — %;
h.n?(m — x) — sin’x; i. n? (g + x) —cos?x; j.n?(m+ x) — sin’x.
Question 3

gly) =2V =27
Find:

a. g(2);

b. g(-1).

Solution

15 3
Answer:a.—; b. —=
4 2

fx)=3*-1
Find:

f+ ()
Answer: 4.
Iff() = =
Find:
flx)—f(2)

X —2

1 15
2)=22-22=4——=—
9(2) 172
3
g(—1)=2-1—21———2=—E

Question 4

Solution

fO+f2)=3"1+32"1=1+3=4

Question 5

=
3

c.\|
R



Solution

11 1
fO-f@) _Vx=1 V2—-1_+x-1

1

xX—2 xX—2 xX—2
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